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— = # E 50cm
No| BIEE |HXE L B it MELT & E i
1] FRETHHEE 0.05 - 0.07 -
| 2] A EHE 0.06 - 0.06 -
| 3 AHREEEIILY 0.05 - - -
4 9m21m SEEERER 0.05 - 0.05 -
| 9] EEREM 0.05 0.05 0.05 -
| 6] B KBRER 0.05 0.05 0.05 -
7 E IKEARB AT 0.05 0.05 0.05 -
8 R |UOFEHYREE 0.05 - 0.05 -
9 BEREM 0.05 0.05 0.05 -
| 10 MEFHHE 0.06 - 0.06 -
| 11| 9A25H ARHEHHE 0.05 - 0.05 -
| 12 HRNEREM 0.05 0.05 - -
13 EIELE 0.07 - 0.06 -
| 14] a  [RENEFRT 0.05 - 0.05 -
% 9A278 f}é p_t?ﬂhiﬁ’: s 2l 0.05 0.06 0.05 -
| 16] = |- RRER 0.05 0.06 - 0.06
17 KINEER 0.06 0.06 0.06 -
| 18, AIREM 0.06 0.06 0.06 -
| 19 q  |BREEMR 0.05 0.05 0.05 0.05
%(1) 0 26H E iliﬁﬁ’:’ém_ 0.06 0.05 0.04 -
| 21 = AT S R B AT 0.05 0.05 - 0.05
| 22 MFERER 0.06 0.06 0.06 0.05
23 BEXREM 0.05 0.06 0.06 0.05
2 om0 | ke BAEFTEERER 0.06 0.06 - -
25 BRE SR 0.06 - 0.06 0.05
| 26 T |[wErREmR 0.06 0.05 0.06 0.06
| 27| 9A 208 ﬁ TERER 0.06 0.05 0.06 0.06
28 X |f8IRER 0.06 0.05 0.06 0.07
29| 9A19H | HE |HEMREERHN 0.06 - - -
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